71 BfELEAOFASRY)

et - B2 RE

SIS - N = A
IEGL #RERF IR A0 F A H7-0)) X
4000
(N) =
£ H 333.6 3800 -
1 ® M 3735 3600 -
3 W m| 361.2
4 K 7 356.8 3200 |
5 K 5 355.7
6 &5 F 3547 | 3000
7 0 ;W 3530 | 7| 9800 -
8 5 p3ll 352.3
9 = 1% 3485 260.0 ' . .
10 ¥7 P 347.1 o 10 13 16 19
11 I B 346.6
12 1L 5 345.0 | EEE = 2F]
13 B Vit 3449
14 1 & & 3441
15 8 = 3435 | ¥ —HET—5
16 = )7 343.3 A
17 & 5 341.3 = EEE = 5
178 W 341.3 ERI0 271.9 2845
198 & 3411 | ® T3 300. 1 313.8
20 & o3 340.4 ERK16 324.4 325. 4
21 & Ji 339.7 SERE19 341.3 333.6
22 H #n 339.3
23 K n 338.2 B B B B £ E
24 E g7 336.3
25 = B 3328 | gy |—#&%kR1 BT
26 | =] 3325 FAREEH 305 30.1
27 # = ) 331.8 (AO10BA YY) (2841)
28 #f /N 3313 | 5 (A)
29 % il 329.9 (FERk184E)
30 5 H 329.2 (E£ 5@ mRBERE 1)
31 & XK 3289 | .
32 & = 328.6 7| —faEke1 B EHERREE K
33 = y 3l 3249 (AO10FAHT=Y) 866.7 875.5
34 B I 3243 | _ (A (B16D)
35 f& =] 323.2 = (ER184)
36 [d il 321.6 (EE RS )|
37 & 137 321.0
38 Bt 5 318.3
39 i = 317.1 BRI EER DS [EREFERAEOER
40 & fi#] 3170 REEA ER19E6ATH
M1 ERE 315.1 | -REREE
42 18 H 314.1
43 1L L 3140
44 1% £ 312.2
45 F =3 3120 | &
46 B I 305.0
47 H 1B 238.4




	71

